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EXAMINATION FOR 2"° LEVEL STUDENTS OF BIOPHYSICS

COURSE TITLE: Elcctromagnctism 11 COURSE CODE: PH2284

13 JUNE 2015 |TERM: SECOND ITOTAL ASSESSMENT MARKS:100 TIME ALLOWED: 2 HOURS

Answer the following questions:

First Question:
1- Define the semiconductor materials, distinguish between intrinsic and extrinsic

semiconducting materials, and mention the effect of temperature and impurities on them.
[10Marks]
2- Let the current density be J = 2p cos? ¢ a,—psin2¢pa, A/m?* within the region 2.1<p<2.5,
0<@ < 0.1rad, 6 < z < 6.1. Find the total current I crossing the surface when :
(@)p=22,0<¢ <0.1rad.6 < z < 6.1in the a, direction;
(b) ¢ =0.05,2.2<p <256 <z<6.1,in the a direction.
(c) Evaluate V.J at P(p=2.4, ¢ = 0.08rad, z = 6.05). [15Marks]

Second Question:
1- (a) Solve Laplace’s equation for the potential field in the homogeneous region between two
concentric conducting spheres with radii a and b, b>a, if V=0 at r=b, and V=V, at r=a.
(b) Find the capacitance between them. [15Marks]
2- Conducting cylinders at p= 2cm and p = 8cm in free space are held at potentials of 60 mV
and -30 mV, respectively, (a) Find Ey(p), (b) Find the surface on which V=30mV.
[10Marks]

Third Question:
1- Write and explain the integral form of the four Maxwell equations under static conditions.
[10Marks]
2- A current filament carrying 15A in the a, direction lies along the entire z axis. Find the value and
direction of the produced magnetic field intensity H in Cartesian coordinates at P (V20,0,0).
[10Marks]

Fourth Question:

A portion of a sphere is specified by r=4, 0<6<0.11, 0s9<0.31, and the closed path forming its
‘perimater is composed of three circular arcs.

For the given field: H = 6rsin¢@ a, + 18rsinf cos ¢ Ly

(a) Find the total current outward from this surface.

(b) Evaluate each side of Stokes’ theorem. [30Marks]

© BEST WISHES ©

_EXAMINERS DR. REDA EL-SAYED EL-SHATER PROF. DR. SAMIA AHMED SAAFAN
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ANSWER ALL QUESTIONS:

I-a)Find the superposition of two S.H.M. along the same line, have the same
frequency and different amplitudes.

b)Describe Fresnel's biprism, Explain how the wave length of light can be
determined with it's help.

2-a) How will you determine the wave length by using Michelson
interferometer.

b) In Newton's fing experiment , if drop of water (n=1.33) be placed in between
the lens and the plate , the diameter of 10% ring is found to be 0.6 cm , obtain
the radius_of curvature of the face of the lens in contact with the plate. (A of 1ight used 60004)

3- Derive an expression for the intensity at a point in the Fraunhofer type of
diffraction produced by N nearby parallel narrow slits illuminated by
monochromatic light.

4-a) Give three methods producing plane polarized light .

b)Calculate the least width of a plane diffraction grating having 500 line /cm

which will just resolve in the second order the sodium lines of wavelength
5890 and 5896 A”

Good luck ............
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TANTAUNIVERSITY
FACULTY OF SCIENCE
DEPARTMENT OF ZOOLOGY

EXAMINATION FOR SECOND YEAR STUDENTS (SOPHOMERES) OF BIOPH/ZOOL

COURSE TITLE: Invertebrate Biology COURSE CODE: ZO 2242
_ ] TERM: TOTAL ASSESSMENT TIME ALLOWED: TWO
CATE: altaais SECOND MARKS:150 HOURS

Answer the Following questions:
First Question (35 marks)
1- Give a brief definition to the following: (12 marks)
a) Swarming b) Epitoky ¢) Schizocoelic coelom d)Erythrocrurin

2- Describe with labeled drawing the digestive system of Hirudo medicinalis with
special reference to the modification occurred to adapt its feeding mechanism

(11 marks) _
3- Mention the function of: a) Hirudin  b) Nuchal organ ¢) Nephrostome
d) Botryoidal tissue (12 marks)
Second Question (40 marks)
| Section (1) (12 marks )
1--Answer the following:
a- Put true or false and correct the false statements: (3 marks)

1- Arthropods have a well developed muscular system composed of striated
muscles and share in the formation of the body wall.

2- The body of arthropods with internal and endodermal hard exoskeleton.

3- Execration in crustacean animals is performed by Malpighian tubules

b Complete the following: (3 marks)
- 1- The dlversny and success of arthropods are largely related to their
................................ - (3 [P )
2- The head of Crustacea carries .....coceeenn  emnerzr 1 o e SIS . and
2- Wlfh fully .leh'eie'c'i';:lrawmg explain the digestive system in prawn. (3 marks)
3- lllustrate by only Labelled drawing: (3 marks)
i - Body wall of prawn. ii — Green gland of prawn
iii- Schedule of circulation in prawn
Section (2) (28 marks)
1-Explain in detalls types of crustacean larvae and make a fully labeled drawing if
possible | (6 marks)
2-Mention the function of the following: (12 marks)
a. Spinneretes in Spider b.Phyllopodia in Artemia
c. Cirriform appendages in Balanus d. Stigmata in Scorpion
e. Sleeve valve in oesophagus of Scorpion f. Palpal organ in Spider
3- Complete?the missing words: (10 marks)
- T considered as the most primitive crustacean in phylum arthropods

.................

because of

b. The main differences between Artemia and Daphniain.......... NP -
C. -.vv......is a small crustacean adapted to parasitism on
d. The respiration in Arachnida by........ and excretion by
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Fertilization in scorpion B it and male grasps the fer_nale o) S

 Third Question (40 Marks)

Mention 2 items only of the edono‘mic importance of Mollusks. (4 Marks)
Mention three of the gill plate functions in Anodonta, ' (3 Marks)
Mention three of the defending strategies of Octopus to defend itself. (3 Marks)

4- Put or x and correct the V\frong statements (10 Marks, 2 marks each)
a- Anodonta has a single protractor muscle ()
b- Hexabranchus belongs to gastropods ()
c- Anodonta has radula ! ()
d- Sepia has no shell - ‘ ()
e. All mollusks have bilateral symmetry ()
5- Complete (10 Marks)
a- The study of molluscs is called --=-=-cemeeex |
b- The circulatory system is opened in all molluscs except ---------
c- The sense organs of Anodonta include , and -~--------
d- The shell of Anodonta has three layers g = ,
€. Pinctada has an economic importance because ~—----m -
R is a structure used in jet propulsion in Sepia.
6- Give the scientific terms: (6 Marks, 2 marks each)
‘a- Itis a period of inactivation and withdrawal of the snail body during summer
season.
b- It is a phenomenon in the larval stages of gastropods in which the ‘mantle
cavity and the anus turned to the anterior portion of the body.
c- Pearl mother layer. ‘
7- Define the homing ability of the Chiton. (2 marks)
8- Give one evidence only to prove that Cephalopods are intelligent animal.
, (2 Marks)
Fourth Question (35 marks)
1-Write on the following (75 marks)
a. Digestive system and digestion in Sea star |
b. Relation between phylum Echinodermata and Chordata
c. Classification and main specific characters of phylum Echinodermata
2- By drawing only show the following (156 marks)

a. Water vascular system
b. Digestive system of Sea urchin
c. T.S of arm of Brittle star

3- Mention the economic importance of Echinodermata (5 marks)

EXAMINERS

Prof. El-Sayed Taha Rizk Prof. Nahla Omran

Prof. Hoda kamal Ass.Prof. Wesam Salama




TANTA UNIVERSITY
FACULTY OF SCIENCE
BOTANY DEPARTMENT
Examination / ForR LEVEL TWO BIOPYSICS
— Plant Diseases caused by _
~—-j Microrganisms,Insects and Nematode Come CodaB 0 2240

30-5-2015 Total assessment marks:
Term: Second 150

Course Title:

Time Allowed: 2 hours

Answer the following questions
First question : ( 35 Marks)

1- Explain plant disease caused by Citrus black fly.

2- Mention the pathogen (etiology),symptoms of dry brown rot of stone fruit disease and How
to control the disease draw the sexual stage only of the pathogen.

Second question: ( 40 Marks)

1- Write and draw life cycle only of pathogen Pythium sp.

2-Explain four stages of development of disease(Inoculation-Penetration-Infection and
incubation period).

Third question: Answer the following : (50 Marks)

a- What are the symptoms and life cycle of Crown Gall disease with drawing .
b- Describe the symptoms of bacterial leaf spot disease caused by Xanthomonas campestris.
c- What are viruses and symptoms Yellow dwarf of Onion disease.
d- How can nematode use plant cell sap and describe life cycle of Coconut palm( Aphelenchus
cocophilus
e- Talk briefly method for control of Aphelenchoides besseyi (A.oryzae) .
nematode disease.

Fourth question: Complete the following sentences : (25 Marks)

1 -Bacterial Soft Rot disease caused by ..........ccevvuervenirinunreenerenn.
2 -Scabies of Potato caused DY ......ccvuivvueierierirniiiniiiiiieeieeraeeene.
3 - Bacterial Crown Gall disease caused by .........c.ceuvvvnreennnnn.. P —

4- All nematodes have ...........cc........ which used to .......... .. Plant cells.
5- Aphelenchoides besseyi CAUSE .evvrnecennenns diseases of Rice.
Best wihes

Prof. Dr. Susan Assawah Prof.Dr.Eman Abd El-Zaher
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‘COURSE TITLE:

Analytical Mechanics COURSE CODE: PH 2242

DATE | I 23

\05\2015

TERM: SECOND | TOTAL ASSESSMENT MARKS:100 TIME ALLOWED: 2HOURS

Answer the following 4 questions:

Question 1

a) Prove that the velocity (V) of a particle in plane polar coordinates is given by:

V=re.+ réeg

Where ¢, is the unit radial vector and ey is the unit transverse vector. r is the position

vector.
(20 marks)
| b) Find the magnitude of the angular momentum (use the velocity expression in a).
’ (10 marks)
‘C‘Q.L.l.e'stion 2
A particle moving in a central field describes the spiral orbit 77 = roeke. Show that:
a) The force law is inverse cube. (15 marks)
b) 6 varies logarithmically with.t. (10 marks)
Que Stlo n 3 ........................
Apply Lagrange’s equations to find the equations of motion for:
a) One dimensional harmonic oscillator in which the damping force is proportional to the
“velocity, ¢
, (15 marks)
b) A particle moving in a plane polar coordinates under a central force.
(10 marks)
Question 4 .
Show|that the radius for a circular orbit of a synchronous (24-h) Earth satellite is about
6.6 Edrth radii. (Earth Radius= 6380 km; acceleration of gravity =9.8 m/s°)

(20 marks)

EXAMINERS DR. MOHAMED SHAHEEN

ook g gl Clpialll Caglal¥ork




J| Tanta University | Final First Term Examination g}‘:‘“’, e Conle: BH 2262
= Sics
{# Faculty of Science | Academic year 2014/2015 Date: 27/5/2015

Department of PhysicS |  nathematical Physics Course (2) | Time allowed: 2 hours

' Solve the Following Questions:

First Question :( 25 marks)
(a) Find both the general and particular solutlons of the homogeneous dxfferentlal equation:

y'+4y' +4y=0

When y(0)=3, y'(0)=1

(b) Find the general solution of the following differential equation, using the undetermined coefficients
method:

Y'+2y' +y=x

Second Question :( 25 marks)
(a) Using the inverse differential operator method to find the general solution of the equation

y"—4y =8xe®*

(b) Solve the differential equation of simple harmonic motion

y+a)y 0

Third Question :( 25 marks)

(a) Solve the next differential equation using the variation of parameters method
y"+ y =sin(2x)
(b) Find the general solution of the equation: .

(O"+1)y=sinx

Fourth Question :( 25 marks)
(a) Discuss briefly the following second order differential equations:
(i) The wave equation
(i) The diffusion equation
(iii) Laplace's equation
(iv) Poisson's equation
(v) Schrodinger's equation

(b) Find the general solution of the two-dimensional Laplace equation
2 2
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With my best wisrhes.
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